T O NN DN A A U EguoO
MOV | 0| >[N |IN|DLHQY
Nl |1 M| >>|oO|dM|d | O o>
— | M| OO ~ | YO | O | gl=o
O\ O |l =Z|lx|dMl=Z1=Z1" ~
=  S|o|lT |8 >|0|32
™ ™l ™
H | D F|lo|l=z|lola|H|E 1:100
=2 | O ~ === |gol|l|=32 2
— = | S| >|R2|=|2S
> | O M = =7
= O o
M UM j> > (- — N -~ 8
2| O = | m <
- > | 0| A
~ § ~ | g |
C |1 Z2|=Z
= : _ v
= =
(@]
— o
(@)
3
>
-:o . 1:100
" s 5[ "
_$_ N 0.0 3.08[120.53]123.50| 123.61|Studnia Dn1500 T~ N
> o 5 2.01] 121.60 Proj. wlqczenie do kanafu Z 0.8, Rz.d.=120.53 ”_W ] ol
c o N S Uy N o 3
e \\ 3
goo_U N 2
= 3.1 3 1.40] 121.911123.50{ 123.31| wpust =
(o)) | IS E—— " e >
(98] (92)
N 0.0 3.08 120.53 123.50 123.61 Studnia Dn1500 T N
$> ~I| 2.76{120.85 Proj. wigczenie do kanafu 2 60.8, Rz.d.=120.53 HE= 5 >
O o N an .
N
x
S
- SV
o
~
N
= 17.2 3 1.401122.05]123.50] 123.45 [ wpust _— | =
(®2] (@)
) w
_$_ N 0.0 3.10 120.69 123.77 123.79 Studnia Dn1500 z przepadem T . N b\
~ O —T 1.98] 121.81 Proj. wigczenie do kanafu 2 ¢0.8, Rz.d.=120.69 >
o J |o > U)—U N o gy
O el =
= 5.3[o 3 1.401122.341123.771123.74 | wpust ; = X
N N
1:100
" =[ "
_$_Q 0.0 3.10 120.69 123.77 123.79 Studnia Dn1500 z przepadem | He DO
i S, 5‘ 1.67]122.12 Proj. wiqczenie do kanafu 2 0.8, Rz.d.=120.69 '\\-I-/ ] o~
= 2.2 OOO 3 1.401122.341123.771123.74 | wpust = @
~ =~
(92)
_$_ N 0.0 1.93 121.76 123.69 123.69 Studnia Dn1200 b\
~ | 1.85[121.84 Proj. wiqczenie do kanafu 2 ¢0.315, Rz.d.=121.76
O @ |o E\%'U % -
N
= 5.2 %oo 3 Sel 1.40]122.24[123.69]123.64 | wpust &
1:100
” e[ 0
_$_Q 0.0 1.93 121.76 123.69 123.69 Studnia Dn1200 ”_L.\ n Q
_\ ) —1 1.68] 122.01 Proj. wiqczenie do kanafu 2 80.515, Rz.d.=121.76 ™ H X
© o | 291X T oo
M e A N \\ 8
= 230 3 1.401122.241123.691123.64 | wpust = ©
No L1 S O No
N
w w
_$ N 0.0 1.98 118.08 120.06 120.06 Studnia Dn1500 N
>~ o Proj. wigczenie do kanafu 2 ¢0.8, Rz.d.=118.08 im : >~
N
B a
&
oo
w (92)
Q 28.8 2.44| 118.141120.39120.58 | Studnia_Dn1500 T T B Q
N U Proj. wigczenie kanafu ¢0.16, Rz.d.=118.80 [ . N
R
L =
= =
& o0
[{=)
O
>
w &0 w
N (@) . N
~ 4771 S 3.09| 118.18] 121.05| 121.27| Studnia_Dn1500 T ~
(N Proj. wiqczenie kanafu ¢0.8, Rz.d.=118.18 U—T N
O Pro}. wigczenie kanafu 80.16, Rz.d.=118.50 O
|_ o
I S
S 7 ® 2 =
O T o F o % ~
) . e TR e S =t
2y SRR LR
3 S B B 8 g
w w)
N 68.8 3.04(118.22 121.36| 121.26 | Studnia Dn1500 Ny
W S
[@N] N
R
~N
3,
©
©
Q g 8
90.3 3.03[ 118.26] 121.43{ 121.29 | Studnia Dn1500 z przepadem T 7
E Proj. wigczenie kanafu 60.16, Rz.d.=119.57 L . = E &
~ Proj. wigczenie kanatu ©0.16, Rz.d.=119.26 ~ —
1:100 EC,\';
% 3 l— 1% €
_$_Q 0.0 2.44 118.14 120.39 120.58 Studnia Dn1§(?)0 ”—H\ M Q
o 5‘ 1.78] 118.80 Proj. wigczenie do kanafu 0.8, Rz.d.=118.14 NJ H o
- o 2 - 8
223 =
fon o0
o® E;
= 4.5 3 1.401 119.25] 120.39| 120.65 | wpust m =
N l—————13 &
w w
_$Q 0.0 3.09 118.18 121.05 121.27 Studnia Dn1500 EF'Q b‘
o o Proj. wiqczenie do kanafu #0.8, Rz.d.=118.18 ot = o
© o ) N ©
o N
Swn
s o
e
o
N
(@)
N o
>~ 20.0 3 3.34] 118.22( 121.46] 121.56 | Studnia Dn1500 z przepadem
W Proj. wigczenie kanafu ¢0.16, Rz.d.=119.41
N Pro}. wigczenie kanatu ¢0.16, Rz.d.=119.84
- R
3=
n Q
_&\ 0.0 3.34 118.22 121.46 121.56 Studnia Dn1500 z przepadem
W —| 2.15] 119.41 Proj. wigczenie do kanafu ¢0.8, Rz.d.=118.22
o N © @)
NG PN X2 BN N
o o0 Y| &
% 7.31° 3 1.40[120.14 [ 121.46] 121.54 | wpust
N
1:100
Q 5[
_$_\ 0.0 3.34 118.22 121.46 121.56 Studnia Dn1500 z przepadem
< —1 1.72]119.84 Proj. wigczenie do kanafu ¢0.8, Rz.d.=118.22
o o o o
— e 5 (/)-U N
|'c> =Zgl i
[e2]0's] '(37
N 36 1.40{120.20] 121.46| 121.60 [wpust N
N N
w )
_&Q 0.0 3.09 118.18 121.05 121.27 Studnia Dn1500 T =5 Q
N —[ 2.77]118.50 Proj. wiqczenie do kanafu #0.8, Rz.d.=118.18 IS = X
o o S N o
= SWU «© 3
o _\Z% RN N .
S O YO
© o
S _1 106 3 1,401 119.65] 121.05] 121.05 [ wpust 3
~ ~
1:100
0 s o
No . (] N
~Z 0.0 3.03 118.26 121.43 121.29 Studnia Dn1500 z przepadem ™ M~
'$' N o —| 1.72]119.57 Proj. wiqczenie do kanafu ¢0.8, Rz.d.=118.26 “_W H [ e
O . 3 U) O I X .
i R 2 PN :\ - g
S 2
= 26 3 1.40 119.83] 121.43] 121.23 | wpust =
No No
w
_&Q 0.0 3.03 118.26 121.43 121.29 Studnia Dn1500 z przepadem
[N O —[ 2.03]119.26 Proj. wiqczenie do kanafu 80.8, Rz.d.=118.26
O - w 3 m_U h (=}
E 5.710 3 1.401 119.83] 121.43] 121.23 | wpust «
N
w w
_$_ N 0.0 3.04 120.46 123.48 123.50 Studnia Dn1500 z przepadem T N
} —| 1.84[121.66 Proj. wigczenie do kanafu 2 90.8, Rz.d.=120.46 N
O W ~ N R
X . &
o ) o
@ :g I -
N = ; 2 33U,
N . I A IR
12.8 1.85[121.85]123.55] 123.70| Studnia Dn1200 = [T — ~
— Proj. wiqczenie kanafu 60.16, Rz.d.=121.99 o —
W W
—_— — _\a
~N<e
=
N]
N
¥ 3
~ 35.0 1.78[122.171123.831123.95 | Studnia Dn1200 ~
W U S
No e N g
)
=
0]
N -
o >
N
—_—
O
—
<3 i <3
~ 62.5 5 1.721122.58( 124.17| 124.30{ Studnia_Dn1200 ~
N 5 Proj. wiqczenie kanafu 80.16, Rz.d.=122.67 N
(&N . (&N =
o0 54
3 =
N
~
¥ 5
~ 85.2 1.75[122.92|124.56 | 124.67 [ Studnia Dn1200 ~
W W
~ ~ >
xQ
S
o 3
o
— _E,U ‘ 2
'$' o T AR N
— o & N
9 o S a& E 9
~_| 1058 3 1.80[123.221124.801 125.02 | Studnia Dn1200 ~
o Proj. wigczenie kanafu ¢0.16, Rz.d.=123.32 =
d 1100 d 3
% 5[ % Z
_$_ 0.0 1.85 121.85 123.55 123.70 Studnia Dn1200 ks T~
- O — 1.711 121.99 Proj. wiqczenie do kanafu 80.315, Rz.d.=121.85 “_T" H —
o WG SR O = W
= IS AN \ - S
= 230 3 1.40(122.221123.55]123.62 | wpust il = *
N N
1:100
3 §[_ﬁ %
_$_> 0.0 1.72 122.58 124.17 124.30 Studnia Dn1200 Lis o] ~
o |N 1%_0 2\5\ 1.63]122.67 Proj. wiqczenie do kanafu #80.315, Rz.d.=122.58 T" T &
[GNEN | =) [@N] N
= 20/8% 7|3 3% 1.40(122.87] 124.171124.27 | wpust |%=¥=r1 = 3]
o 1 N —— o
1:100
w N r %)
NS S NS
_$_> 0.0 1.80 123.22 124.80 125.02 Studnia Dn1200 ”_L.\ H ~
o S, 3 1.70{123.32 Proj. wigczenie do kanafu #0.315, Rz.d.=125.22 “_T" N
n |':" a%% \l BN (@) §
(o]
= 27|19 3 1.40[123.59]124.801] 124.99 | wpust é&v—m =
o0 1 I —— (@)
1:100
" 18 0
_&Q 0.0 3.05 120.49 123.53 123.54 Studnia Dn1500 Y H Q
_\ U —1 253] 121.01 Proj. wiqczenie do kanafu 2 60.8, Rz.d.=120.49 N~ H =
O N~ ) o m o~
32 5
|;;> ) +
& =
w o w
No . m No
4.3 g 2.07[121.431123.53]123.50 [ Studnia Dn1200 \ T~ /4)
~ — \ T~
. oD N N
< &
o) —
B I
o o
N |
= 10.3 =E 1.40[122.041123.53]123.44 | wpust =
- | 19 E——————
2 9|0 % zsgsosnslo
o213 8| 838sgaie z
SEIESIE - R o § z z
B 33| 88s832eL5 | _ 3 R & 3 5 2
S 515575 5838 | §3 g3 D 3 g
& €53 g &¥F g5 H z
3275 53| o8 R : g3
g_’- g 5 |2 & E'-%EE i i =5 3 8 SO | gg :
N “5’ S. 5 s §7§ A Y ) o O @ o 5 = NA 3
e |8 | F |8 < DoN °N 25T oc < | S © N = 320
a S 2 2 g g %35 NT= 2 a8 N N O e — —
=% |3 3 za : ® BxS &HeS T o == 22| 33 o @
g8 3 = 5 58 | =42 B 522 =8 7 g 3 s @
S |y a 2 2 E3 328 OgO 3 o = & S, 3 <) - 5 5
ul d L. §za - <
g5 |z 73 53 21t 559 e T 8253 % = &
N T o |4 T |0 o9 23 A9 - = o = - L = — — 8
4 2 5§ 2| 8 | D 9 g¢ NZ2N 3 2 8 S 5 Zc EK
8 = 8 8/0 0| sg s 2R9 = @ =22 =8 L x
N s |y (SO x = =z g WO =@ 3 o = 2. S o =
=4 9 2 m m L3 IQ\IJ & ~ 3 g (@) D @) = 2 o O
s | 2 A A 52 ) @ : ™ - __© Gz < Z
25D g. F% 5 §533 o ©» 322 ©38 =% 2
qa 85 53 3 N R = 9 == S =
: 58 g% 2. N N 33 ==° zlo 3 TN
(:E_' DB o » N Q 535‘% %3 ng %g% gé %NNg g
122 =8 N S Ingee £= =53 SEREE R us S
NzZNZ =2 | 2 |2/ £ 2| 5= S 3 = g8= = o c 3= Ssla 28 3 7g2 >
SeR3 & | & 21O || &3 g&eg g9 23 3 2= o —O°. s Rz 3 oy =
898 5| g ¢ N |> Y P_Ug P 2 3% ) < ND 7° 5 ls 5 L&|3
=%zx2 8|8 3|z |z2z | &2 RE3b I8 3 g ~ N2 -~ 9 > 2 g 335
c|i N € 18 X | < S oRa s vegd A o O NEa R 2 No
3 3 3 = Q °s8<2N 2 I o =. < S £ 8§ 3 9
x| 818 pe S:25850% a2z 5 = 2B 5 Say
(w] S = © ﬂmﬁ-gﬂam < 93 @] - ¥ o Z oo
v ek = KRz z=z = o0 O ¢ %6
S 3 2805 2 o o 3 . ) N z 5 ©
.g (7] 3 K ';-("—\II; o) 8 o @ D 1)
2 S 2077
z 3 = Q
B s =
HE) g [0}
5 g Q S, e
2 S %
5 Q
2 =3
? )

YAN3O1




